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O SHAIZH tEels gagil
121,000 «65CH* 123 94,380
SENSsH TASTA(ZH]) 98,000 0 98,000
= 49,000
= 24,500
= 24,500
405 AtatE = 98,000 0 98,000
= 49,000
= 24,500
s 24,500
01 AL =S F=HI 98,000 0 98,000
O WSStk OISAExE Fe
49,000,000 *2CH 98,000
= 49,000
< 24,500
= 24,500
dES SEFY x4 106,000 82,000 24,000




SN THHOHM 1t
XN DEMHR HA

=t HsusKE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 96,000 72,000 24,000
01 At2teltl 96,000 72,000 24,000
O =X 22X SURHIS €2
8,000,000& *12& 96,000
401 Al HIZ S OHbI 10,000 10,000
01 A28l 10,000 10,000
O sU g1 =48 & RAES
10,000,000 10,000
sHEHA HLRSH 360,000 450,000 100,000
307 glztol & 350,000 450,000 100,000
0 2+HHEXS 350,000 450,000 100,000
O sOHEHA HLQsH X2
175,000,000& x23]* 1= 350,000
Sl XY ¥ 22(E/XS) 834,000 1,281,000 A447,000
[ 250,000
o 584,000
307 @I2to| & 834,000 1,281,000 A447,000
[ 250,000
o 584,000
0 2FHEXS 834,000 1,281,000 A447,000
O =8Hllcd &a2d=
69,500,000& » 122 834,000
s 250,000
= 584,000
ZAHAHBAIAHI(BIS) RERY 27,743 26,485 1,258
201 fer23y| 1,320 1,320 0
02 S3=gl 1,320 1,320 0
O HAZECHI HI| ALS
10,000%*11EH*12% 1,320
403 AXIEHHSAH=201H 26,423 25,165 1,258
02 S 2SS0t et =& 2 €A | 26,423 25,165 1,258
O HAZEAIAE 25 2d2cld] olat
26,423,000 * 14| 26,423
B Al AF(ZHI) 270,000 240,000 30,000
= 81,000
Ea 189,000
307 el2to| & 270,000 240,000 30,000
= 81,000
o 189,000
09 2FSAHEXS 270,000 240,000 30,000
O BI2X Al Ar&
22,500,000& * 12+ 122 270,000
[ 81,000
T 189,000




2A:

THHORA 1t

33 IS
ol HsunsSid (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HES SYFUEY REAY(Z/HE) 2,500,000 0 2,500,000
= 1,500,000
= 1,000,000
401 AlZHIZ S 0HbI 2,500,000 0 2,500,000
= 1,500,000
2 1,000,000
01 Al&H| 2,500,000 0 2,500,000
O BES IYENEY X4
2,500,000,000& 2,500,000
== 1,500,000
[Ea 1,000,000
UHzswnsSHl &= XA (K-THA) (=24]) 16,000 0 16,000
= 8,000
= 8,000
308 AXIHSOIA 16,000 0 16,000
= 8,000
Ea 8,000
183 S| 2SI &HAEAIE 16,000 0 16,000
O H=usHl &= XA 248 X
16,000,000& 16,000
= 8,000
o 8,000
wSAIE=2e] 152,824 134,824 18,000
wWSAIEE FAl2c 93,000 75,000 18,000
201 er23| 93,000 75,000 18,000
01 At2teltl 3,000 3,000 0
O Al & sE=IE 22l
3,000,000& 3,000
02 S3=gHl 90,000 72,000 18,000
O WsHSI| HI| AL B&E
7,500,000~ 128 90,000
e S0A A 54,824 54,824 0
201 =3 8,360 8,360
01 At2t2lt] 8,360 8,360
O dgt==3ZH| 4,960
- USEAMN HHC E2= M
500,000 500
- 2-AEE RE S WElE R0 DXIA
RS 360,000& 360
- =9 FEX 2 AEIS HME
300,000 300
- 23S AN =EAF 2 S2HERIE
1,800,000 1,800
- SEXE dIHEE 288)
2,000,000& 2,000
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A RPN I= S
33 IS A
Chel: NSAE2S2al EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Z&dA2e =Xy &1 =HlE ¢
2,800,000& 2,800
O AZBA DESH228 SUE 7Y
600,000 600
308 AXIHMSO0IA 46,464 46,464
13 SO 2SO UEHE &4 X 2AS A 46,464 46,464
O Al2HA HEAS &
46,464,000 46,464
SAZ WSHH 2e| 5,000 5,000
201 Ler23| 5,000 5,000
01 AtRr2IH| 5,000 5,000
O SYFIT 1S4 DALY 23|
2,000,000 2,000
O SEFIE =4 2XN0Y S 28 8ot
=2 1,000,000 #32] 3,000
Ars X2t 25,930 26,200 A270
KNS UEHSH == 25,930 26,200 A270
201 er23| 23,500 23,500 0
01 At2tltl 1,500 1,500 0
O NSAtdts d+F0 SAD| & ZelH
225 2 1,500,000 1,500
02 s3=gHl 22,000 22,000 0
O RESAUSK SX2c] AIAE X2l
2,000,000& 2,000
O XStz s SES
20,000,000 20,000
202 04l 2,430 2,700 A270
01 =LHAHI 2,430 2,700 A270
O ASAtitts d+=g2F8 04l
2,430,000& 2,430
EHOIE 2¢ 22 25,000 25,000 0
EHOE 2€ XA 25,000 25,000 0
307 21201 & 25,000 25,000 0
02 QB HANEER 25,000 25,000 0
O SEH01E 22X& 25,000,000 25,000
MBI HA TS XA 721,000 660,000 61,000
= 80,000
Jl 40,000
= 601,000
FAHSNSKA 721,000 660,000 61,000
= 80,000
Jl 40,000
[Ea 601,000
WSt OISKHHE "HASEA"2E(0IS) 561,000 622,000 261,000
Jl 40,000




SA: TR I
M AR HYN WS
Rl FAAAHSNSKE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 521,000
307 gl2tol & 561,000 622,000 261,000
Il 40,000
s 521,000
05 git?(& = 561,000 622,000 261,000
O nSSHk oISX2HE 23
561,000,000 561,000
Jl 40,000
s 521,000
WSAX OlSKIMEH "oIASAI"2SE(=24]) 160,000 38,000 122,000
= 80,000
Ea 80,000
307 @20l & 160,000 38,000 122,000
= 80,000
s 80,000
05 glt?(& = 160,000 38,000 122,000
O uSAR0ISK2HE 2
160,000,000 * 14! 160,000
= 80,000
= 80,000
H=5H Ot Al 28 940,700 956,705 A16,006
SY2NME A 2t 940,700 956,705 /16,005
CCTV SE2MUEH 29 940,700 956,705 /16,005
101 ©1AH| 4,000 4,000 0
04 JIZtN2Z2XNSE+ 4,000 4,000 0
O Sl FHSHEH & F4002Y
4,000,000 4,000
201 er23 | 830,720 810,720 20,000
01 At2teltl 13,000 13,000 0
O (VS 2 M get+=Et|
11,600,000& 11,600
O Z&z 0V 2l 23938 =¢
100,000& *7 & »23] 1,400
02 S22l 817,720 797,720 20,000
O SE2NHE 2HY ¥ HAIES
60,0002~ 1CH* 122 720
O @V HE2d AHE= 380,000,000 380,000
O CCTIV &I ArEZE 100,000,000 100,000
O SEZMAIAE SAE+2(MH, HEE
X,ups ) 45,000,000 45,000
O 24, OellIEs 8 IV RAE*=E
150,000,000 150,000
O AEH=sE OV FAE=2
90,000,000 90,000
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A BN I= S
Hu: #=s OIMGCAl PE
el SE2MAE SE At (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =gxt & IV =2
16,000,000 16,000
O ADIEAIEl SEEHE SN2 (2-28
2 CHEH 2 16,000,000 16,000
O SEZH 2HM2E SN =X
20,000,000& 20,000
202 04l 5,400 5,985 585
01 2LHoIH 5,400 5,985 585
O CCIVEE2MdE 048l 5,400
- ZHLHOYI 1,950,000 1,950
- ZHQY A& Al -2 HXI0RI(17F)
3,450,000& 3,450
207 ARl 43,580 56,000 12,420
02 &AL 43,580 56,000 A 12,420
SSEH WS 124+
66,0002 *430% 28,380
O MBI(Z, tHiolgiA 8) wal s/ 7
400,000 382 15,200
401 AIEHIZ SR OHYI 20,000 30,000 10,000
01 Al&HI 20,000 30,000 10,000
O 2=y S0l & CCv 01&H|
20,000,000 20,000
405 AHatE = 37,000 50,000 213,000
01 ML ESF SHI 37,000 50,000 213,000
O ClV S MNEEX S&
37,000,000& 37,000
HY2H (A D) 69,809 78,150 A\8,341
Jl=3H 69,809 78,150 28,341
JlEZl/ e F A 23,280 25,640 22,360
201 Ler23 | 14,200 16,200 22,000
01 At2tltl 10,600 12,600 22,000
O dit=ZH| 2,600,000& 2,600
Otlz+s= 6,000,000& 6,000
O sS4 2,000,000& 2,000
02 s3=ghl 3,600 3,600 0
O 3832= € HAslt=
3,600,000 3,600
202 04l 3,240 3,600 A360
01 =LHA LI 3,240 3,600 A360
O OHEEM ADRE of)
3,240,000& 3,240
203 =8| 5,340 5,340
M FAZSHIFII 5,340 5,340
O BXASgYRFA| 5,340,000& 5,340
405 KHaHE SH 500 500 0
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AT THHOHE Dt
M a2
ool J|=2

d (crel ®2l)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 TR ESF SHI 500 500 0
O BA a1l =37
500,000 500
Jl=3HI/ S xHoH 10,700 12,100 1,400
201 L= 7,100 8,100 21,000
01 AF22t2ltl 7,100 8,100 21,000
O get=ZH| 3,500,000& 3,500
O =24l 3,600,000& 3,600
202 04| 3,600 4,000 A400
o1 =LHolb 3,600 4,000 2400
O SOHMaH 0l QL= oftl
3,600,000 3,600
Jl23Hl / AR 12,650 13,410 AT60
201 2= 8,600 8,910 A310
01 AFS2t2ltl 7,700 8,010 A310
O ggt=EH| 2,840,000 2,840
O aotdzelRIds 2=E
1,260,000 1,260
O =4 3,600,000 3,600
02 2324l 900 900 0
O S32=<AAl 900,000 900
202 044l 4,050 4,500 A450
01 =LHOLI 4,050 4,500 A450
O EE=&0HI 4,050,000 4,050
Jl23Hl/nESdE 6,840 7,200 A360
201 ZEet2 & 5,220 5,400 A180
01 AtR2telbl 5,220 5,400 A180
O «et=Zd| 1,620,000 1,620
O =4 3,600,000 3,600
202 O] 1,620 1,800 A180
01 =LHOILI 1,620 1,800 A180
O uSdd HRF& 04y
1,620,000 1,620
Jl=23dl/SE2H 16,339 19,800 A3,461
201 Zet2& 11,479 14,400 A2,921
01 AtR2telbl 11,479 14,400 A2,921
O get=EH| 5,200,000 5,200
O =4 6,279,000& 6,279
202 04| 4,860 5,400 A540
01 =L LI 4,860 5,400 AB40
O SE2HgR=A 4,860,000& 4,860
P& s (Mot Dt 252,476 251,941 535
S HRHKIZ (THHrN 1) 252,476 251,941 535




SA TN
3 HPES(MHM
CHol: LIS HHXIE (JHL MR ) (chol @)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
LHE 12l XI & (RH R 1t) 252,476 251,941 535
(VAP TSE= 252,476 251,941 535
01 JIsdES 252,476 251,941 535
O Nt2els dEs
252,476,000 252,476
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